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Geometry Formula Sheet

Geometric Formulas
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Geometric Symbols Abbreviations
Example | Meaning Example | Meaning Volume Vv
ZA angle A AB vector AB Lateral Area | L.A.
mZA measure of angle A f right angle Total Surface | S.A.
B li AB “u &7 |Line ABi llel t Area
AB ine segment ABICD lilllr;eCD_ is parallel to ArcaofBae 1B
AB measure of <> <> |]ine AB is perpendicular
line segment AB ABLCD ¢4 1ine CD.
B line AB _ A =_ p |Angle Ais congruent to Pi
B angle B.
AABC triangle ABC AA ~AB |Triangle A is similar to =~ 3.14
triangle B. 20
. W=
JABCD |rectangle ABCD Z“/_7 % Similarly marked 7
segments are congruent.
/_ABCD |parallelogram ABCD A V Similarly marked angles
are congruent.
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Geometry

Directions

Read each question and choose the best answer.

SAMPL

If AABC is similar to AADE, then AB: AD = ?: AE. Which replaces the “?” to

make the statement true?

A

B
C
D

AC
AE
DE
BC



1 In the figure shown, m/1=(4x +12)° and m/2 = (6x + 8)°.
A

What is m/1?

A 20°
40°
50°
76°
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2 In each of the following figures, transversal c cuts lines a and b. In which
figure are /1 and /2 corresponding angles?




3 The arcs for a compass and straightedge construction are shown below.

Which construction is apparently being made?

A

B
C
D

Two lines parallel to MN

Two congruent angles

A segment congruent to MN

The perpendicular bisector of MN
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Which two segments in the drawing above are most likely parallel?

F CD and GH
G CD and AB
H ABand EF
J EF and GH



Which segment has a measure equal to %(PQ)?

o0 w >
?
°

6 Two lines intersect as shown.

(2x + 20)°><60°

What is the value of x ?

F 20
G 40
H 50
J 60



7 In this figure, transversal e intersects lines a, b, ¢, and d.

AN

VN TN

Which lines must be parallel?

A

B
C
D

a and ¢
b and c
b and d
aand d

In the diagram, m/1 = (6x +12)° and m/2 = (9x — 4)°.

Which is closest to the value of x ?

“Io

5.3
5.5
11.5
12.5



9 1In this figure, line ¢ is a transversal of lines m and n.

t

1/2
< 3/4 > m
5/6
< 778 > n

Which of the following statements determines that lines m and n are parallel?

A /1>/4
B /2~/7
C /3 and £5 are complementary
D /6 and Z8 are supplementary

— 10 —



10 For what value of x is line / parallel to line m in this figure?

(o]
< ad > [
48°
< > m
F 42
G 48
H 132
J 138
11 Amber constructed BD as shown.
A
D
B
C

Which of the following statements must be true?

A

B
C
D

BA = BC

BD =2BA

m/ ABD = m/CBD
m/CBD =2m/ ABC
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What value of x makes ADEF =~ AJLK ?
F x=94
G x=6.0
H x=53
J x=41

13 Mr. Ammons is constructing a walkway through his rectangular garden. The
walkway runs diagonally as shown in the diagram.

Garden

%o
%J, 15 ft

24 ft

Which is closest to the length of the walkway?

A 18.7ft
B 283ft
C 30.0ft
D 39.0ft

— 12—



14 1In the triangle shown, GR =11, BR =8, and BG =7.

15

B

G R
11

Which statement is true about the angles in ARGB ?

F m/R is the greatest
m/ G is the greatest
m/ R is the least
m/ G is the least

“ Io

Consider the following statement.

If 4x = 8, thenx = 2.

Which is the inverse of the statement?

A Ifx=2,then4x =_8.
If x = 2, then 4x = 8.
If x =2,then 4x = 8.
If 4x = 8, then x = 2.
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16 Which drawing contains a pair of similar triangles?

22
11
F
24 12
40°
G
B 30
13
H
12
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(03] (03]
(6]
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17 Triangle ABC is an equilateral triangle with side lengths of 10 inches.

A

ol
B D C

What is the length, in inches, of AD?
A 5

C 52

D 5J3

18 John wants to make a triangular garden. Which of the following are
possible dimensions?

F 4ftby5ftby 10 ft
6 ft by 6 ft by 12 ft
6 ft by 8 ft by 10 ft
8 ft by 12 ft by 20 ft

“ I o



19 A drawing of Mark’s kite is shown below.

X 12in.

9in.

C—

What is the length of the short section of the outer frame indicated by x in
the drawing?

A 16in.
B 15in.
C 14in.
D 13in.



20 Which Venn diagram represents all the following set of statements?

Some triangles are acute.
Some triangles are obtuse.

No triangle is both acute and obtuse.
Some acute triangles are equilateral.

Triangles

Acute
Equilateral ‘

Triangles

Acute

Equilateral

Triangles

Triangles

Equilateral




60°

40°

D

Which lists the sides of ABCD in order from shortest to longest?

A CD,BD,BC
B BC,CD,BD
C BD,CD,BC
D BC,BD,CD

~
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22 With the information given in the drawings, which pair of triangles can be
proven congruent by the Side-Angle-Side postulate?
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23 Given: AQRS where m/(Q = 20° and m/S = 90°

R
1,000 meters
0 S
What is the length, to the nearest meter, of RS ?
A 342 m
B 364 m
C 500m
D 940 m

24 Which of the following quadrilaterals is not a parallelogram?

F Rectangle
G Rhombus
H Square

J Trapezoid



